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1. Haiinute HanmeHblLee 3HaueHue YHKUMKH

y = 16cos + 27x — 6 Ha oTpe3ke [O; -32£]

2. Haiinute HanGolibiLiee 3HaueHHe d;)ynklmu y= 28z + 7sin z +2 Ha oTpeBke
™
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3. Haiinute HanGosbliee 3HaueHHe BYHKLUHH

y = 5In(z + 5) — 52 + 11 Ha oTpeske [—4,8;0].

4, Haiinure Touky MakcHMyMa GyHKUHH y = (31 — z)e?*31,
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1. Haiinure HauMeHbluee 3HaueHne GyHKUMU e2* — 8¢® + 1 Ha oTpeske [1;3].

2. Haiiute HauGoaibiLiee 3HauenHe PyHKLHMH 62° —90x3 —5 Ha otpeake [—5; 1].
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3. Haiinute HanGonbLuee 3HauéHHe dyHKumM y = 2~97122-32",

4. Halimre TouKy MakcHMyma GyHKIHH y = V1 — 6z — z2.
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1. Haiioute Han6onbluee 3Hauenue GyHkumn y = z3 — 722 + 2 Ha oTpeske
[-1;10].
2. Haiinure HauMeHblliee 3HaueHHe PYHKLUHH
y = (z + 6)%(z + 1) — 23 Ha otpeske [—7; ~4].
3. Haitaure Touky MHHMMyMa dyHKMH y = logg (22 + 7 + 11) + 3.

4. HaiiouTe To4Ky MaKCHMyMa (yHKLHH § = ——o—.
y yMa by Y=




